totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys]

totPwr [tsys]

11sep08 alfa recovery tests file: 0 beam:O

1.06 =
1.04F POIA —=
1.02E polB E
1,00 Frar-iame

(@]
(@]
N
@]
(6]
O
o~
(@)
o)l
(@]

beam:1
1.06 = E
1.04 =
1.02 E
0 10 20 30 40 50
time [secs]
beam:2
1.06 = =
1.04 E
1.02 = =
1.00 @B
0 10 20 30 40 50
time [secs]
beam:3
1.06 = normal settings —
1.04 =
1.02 = —
C v NMMMWWQMm%wwwwwwwﬁ¢kﬂm =4
11,00 Bttt =
0 10 20 30 40 50
time [secs]
beam:4
1.06 =
1.04 E
1.02 =
0 10 20 30 40 50

time [secs]

beam:5

time [secs]

beam:6
1.06 = =
1.04 =
1.02 =
OO S e L S . =

(@]
(@]

20 30 40 50
time [secs]



totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys]

totPwr [tsys]

totPwr [tsys]

NN

NN

NN

NN

NN

NN

11sep08 alfa recovery tests file: 100 beam:0

.06 =
04 E
02 =
.00 -
0 10 20 30 40 50
time [secs]
beam:1
06 = E
04 E
025 E
0 10 20 30 40 50
time [secs]
beam:2
.06 =
04— E
02 —
.00 b
0 10 20 30 40 50
time [secs]
beam:3
06 stage 3. | [19=>{5ma] -
04 =
.00 E ‘\\\;
0 10 20 30 40 50
time [secs]
beam:4
.06 =
04 = =
025 e
00 =
0 10 20 30 40 50
time [secs]
beam:d
08
04
02
.00 P
0 10 20 30 40 50
time [secs]
beam:6
.06 = E
04 E
025 E

@]

10 20 30 40 50
time [secs]



totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys]

totPwr [tsys]

totPwr [tsys]

NN

NN

NN

NN

NN

NN

06 —
.04 PoIA =
.OZ%* polB 4%
.00 [ ]

11sep08 alfa recovery tests file: 200 beam:0

beam:1
06 = E
04 E
025 E
0 10 20 30 40 50
time [secs]
beam:2
.06 =
04— E
02 E
00 [ %
0 10 20 30 40 50
time [secs]
beam:3
06 3b stage 1.1 [ 7—> 5ma] -
04 E
00 [ — e — e 2
0 10 20 30 40 50
time [secs]
beam:4
.06 =
04 = =
025 E
00 o >
0 10 20 30 40 50
time [secs]
beam:d
.06
.04
.02
0 10 20 30 40 50
time [secs]
beam:6
.06 = E
04 E
025 E

(@]
(@]

20 30 40 50
time [secs]



totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys]

totPwr [tsys]

totPwr [tsys]

NN NN

NN

NN NN

NN

11sep08 alfa recovery tests file: 300 beam:0

.06 =
04 =
02 =
00 E
0 10 20 30 40 50
time [secs]
beam:1
06— -
04 -
02 -
0 10 20 30 40 50
time [secs]
beam:2
.06 =
04 E
02 =
00
0 10 20 30 40 50
time [secs]
beam:3
06 3b stagea2. | [10—>8ma] -
04 -
02 [
.00 |- —
0 10 20 30 40 50
time [secs]
beam:4
.06 =
04 =
02 -
.00 & o
0 10 20 30 40 50
time [secs]
beam:d
.06
.04
.02
.00
0 10 20 30 40 50
time [secs]
beam:6
.06 = E
04 E
025 E

(@]
(@]

20 30 40 50
time [secs]



totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys]

totPwr [tsys]

11sep08 alfa recovery tests file: 400 beam:0

1.06
1.04
1.02
1.00 i
0 10 20 30 40 50
time [secs]
beam:
1.06 = E
1.04 =
1.02 =
= | 1
1.00 WMMMWW
0 10 20 30 40 50
time [secs]
beam:2
1.06 = —
1.04 E
1.02 X
1.00 o
0 10 20 30 40 50
time [secs]
beam:3
1.06 - 3b stagea3. | [19—>22ma] =
1.04
1.02
1.00
0 10 20 30 40 50
time [secs]
beam:4
1.06 = —
1.04 E
1.02
1.00 o
0 10 20 30 40 50

time [secs]

beam:5

0 10 20 30 40 50
time [secs]
beam:6
1.06 = E
1.04 =
1.02 —=
100 Eocneroesrmsirrsbeemse e et

20 30 40 50
time [secs]

(@]
(@]



totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys]

totPwr [tsys]

11sep08 alfa recovery tests file: 500 beam:0

1.06 = =
1.04 5 POIA —
1.02 polB —
1. 00 P o or S Ko JIAT AN N =
0 10 20 30 40 50
time [secs]
beam:
1.06 = E
1.04 =
1.02 E
0 10 20 30 40 50
time [secs]
beam:2
1.06 = =
1.04 E
— ) \AV\WM
1.00 g 1
0 10 20 30 40 50
time [secs]
beam:3
1.06 = normal settings —
1.04 E
1.02 =
1.00 & ]
0 10 20 30 40 50
time [secs]
beam:4
1.06 =
1.04 E
1.02 E
1.00 Ay
0 10 20 30 40 50

time [secs]

beam:5

10 20 30 40 50
time [secs]

beam:6

.06
.04
.02
.00

NN

@]

10 20 30 40 50
time [secs]



totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys]

totPwr [tsys]

11sep08 alfa recovery tests file: 600 beam:0

1.06 =
1.04 =
1.02
1,00 proroman —
0 10 20 30 40 50
time [secs]
beam:
1.06 = E
1.04 =
1.02 =
= %MW
0 10 20 30 40 50
time [secs]
beam:2
1.06 = =
1.04 E
1.00 [oo =
0 10 20 30 40 50
time [secs]
beam:3
1.06 normal settings, 3b: 1415 tubular filter —
1.04 =
1.00 e L T =
0 10 20 30 40 50

time [secs]

beam:4
1.06 = =
1.04 E
1.02 E
1.00 -
0 10 20 30 40 50

time [secs]

beam:5

time [secs]

beam:6
1.06 = E
1.04 =
w.on
1.00F =
0 10 20 30 40 50

time [secs]



totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys]

totPwr [tsys]

totPwr [tsys]

NN

NN

NN

NN

NN

NN

.06
.04
.02
.00 g

11sep08 alfa recovery tests file: 700 beam:0

BT

LRI

0 10 20 30 40 50
time [secs]
beam:1
06 = E
04 -
025 E
0 10 20 30 40 50
time [secs]
beam:2
06— E
04— E
02 E
00 p
0 10 20 30 40 50
time [secs]
beam:3
06 normal settings —
04 .~
02 g
.00 [ =
0 10 20 30 40 50
time [secs]
beam:4
06— E
04 = =
025 E
00 F =
0 10 20 30 40 50
time [secs]
beam:d
08
04
02
.00 tr
0 10 20 30 40 50
time [secs]
beam:6
.06 = E
04 E
025 E

@]

10 20 30 40 50
time [secs]



totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys]

totPwr [tsys]

totPwr [tsys]

NN

NN

NN

NN

NN

NN

11sep08 alfa recovery tests file: 800 beam:0

.06 = —
04~ PolA =
.02; polB é
.00 = Sratnmissamiatiatiainice secadaiinaiiin et seatusiitesant
0 10 20 30 40 50
time [secs]
beam:1
06 = E
04 E
025 E
00 WMAWWW"W
0 10 20 30 40 50
time [secs]
beam:2
.06 =
04— E
.02 = =
= AN AN AP AN A por ]
] OV PN PPN arepavy et ceevie o et e ey e e e
0 10 20 30 40 50
time [secs]
beam:3
.06 5b dc block before filter —
04 5
02 =3
00 F —
0 10 20 30 40 50
time [secs]
beam:4
.06 =
04 = =
025 =
00 p A
0 10 20 30 40 50
time [secs]
beam:d
08
04
02
.00 v
0 10 20 30 40 50
time [secs]
beam:6
.06 = E
04 E
025 E

@]

20 350 50

time [secs]

40



totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys]

totPwr [tsys]

totPwr [tsys]

NN

NN

NN

NN

NN

NN

.06
.04
.02
.00

.06
.04
.02
.00

.06
.04
.02
.00

.06
.04
.02
.00

.06
.04
.02
.00

.06
.04
.02
.00

.06
.04
.02
.00

11sep08 alfa recovery tests file: 900 beam:0

‘QH‘\H‘\H‘\

@]

@)

20 40 60
time [secs]

beam:?

80 100

@]

20 40 60
time [secs]

beam:3

80 100

3b dc block +

isolator before filter

@]

20 40 60
time [secs]

beam:4

80 100

@]

20 40 60
time [secs]

beam:5

\;H\‘H\‘\H‘\

@]

20 40 60
time [secs]

beam:6

@]

20 40 60
time [secs]

80 100



totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys]

totPwr [tsys]

11sep08 alfa recovery tests file:1000 beam:0O

1.06 = E
1.04 =
1.02 E
0 50 100 150 200
time [secs]
beam:2
1.06 = =
1.04 E
1.02 & ) A 3
oy N Aoy Fme A Ayt
1.00 ~
0 50 100 150 200
time [secs]
beam:3
1.06 3b stage 3.1 [19—>15ma], dc block,isolator, bed
1.04 =
1.02 =
1.00 p= —
0 50 100 150 200
time [secs]
beam:4
1.06 = =
1.04 E
1.02 —=
1.00 p =
0 50 100 150 200
time [secs]
beam:d
1.06 = E
1.04 =
1.02 =
1.00
0 50 100 150 200
time [secs]
beam:6
1.06 = E
1.04 =
1.02 E
1.00 7 e e - o —
0 50 100 150 200

time [secs]

ore filter



totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys]

totPwr [tsys]

totPwr [tsys]

NN

NN

NN

NN

NN

NN

11sep08 alfa recovery tests file:1100 beam:0O

06 =
04 =
02 =
.00 B A T T R TS =
0 50 100 150 200
time [secs]
beam:
.06 = E
04 E
025 E
0 50 100 150 200
time [secs]
beam:2
.06 E
04— E
02 —
00 it
0 50 100 150 200
time [secs]
beam:3
06 3b stage 3.1 [19—>22ma], dc block,isolator, bed
04 E
02 =
.00 —
0 50 100 150 200
time [secs]
beam:4
06
04
02
.00 po
0 50 100 150 200
time [secs]
beam:5
06— -
04 =
02 ‘ =
00 B WWWWWMWWNW it um“.w/\mﬁxmmu b =
0 50 100 150 200
time [secs]
beam:6
.06 = E
04 E
02 =
OOf I J‘ . " oo ﬂwvwmmi
0 50 100 150 200

time [secs]

ore filter



totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys] totPwr [tsys]

totPwr [tsys]

totPwr [tsys]

NN

NN

NN

NN

NN

NN

11sep08 alfa recovery tests file:1200 beam:0O

06
04
02
.00 W
0 50 100 150 200
time [secs]
beam:
.06 = E
04— =
025 E
0 50 100 150 200
time [secs]
beam:2
.06 E
04— E
02 =
.00 e 5
0 50 100 150 200
time [secs]
beam:3
.06 normal settings,filters —
04 E
02 =
.00 =
0 50 100 150 200
time [secs]
beam:4
06 =
04
02
.00 -
0 50 100 150 200
time [secs]
beam:5
o=
04
g MWWMW@W
OO IM"“V‘V “Y “m Mv AVA'MW v'v."‘v
0 50 100 150 200
time [secs]
beam:6
.06 = E
04 E
02 E
00 F TRV VRO PSR DU O Y st et
0 50 100 150 200

time [secs]



